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= 9,026,903 8,294,807 732,096
= 5,200 5,200 0
dI|EGY Hat 4,977,690 4,568,580 409,110
< 1,723,000 1,723,000 0
i 3,254,690 2,845,580 409,110
dED|2AY =8 293,620 248,180 45,440
M| BIALY KR 293,620 248,180 45,440
202 04l 9,120 13,680 4,560
01 A 9,120 13,680 4,560
OdAY 2= H2FE O
34 03 0 13,680 13,680
OEHI= g2F2 ol 9,120,000 9,120 0 9,120
207 ARl 190,000 150,000 40,000
01 A S| 190,000 150,000 40,000
OZFS2AY & ZZLRFAEA(POOL)
& 190,000,000 190,000 150,000 40,000
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OZRESZAY & ZELYRFAEA(POOL)
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HEAMG =8 3,700,000 3,600,000 100,000
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Etgd ZAISY 100,000,000& 100,000 0 100,000
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OSHME J0IES HE
5,008 * 2,0005 10,000 0 10,000
308 A2 1,200 0 1,200
01 ZA2 1,200 0 1,200
OQIHM 2430 BI} A& 1,200 0 1,200
-F|2a 500,002 * 1HA 500 0 500
2 300,008 * 19H4A 300 0 300
-& 200,0002! * 2 A 400 0 400
HAZW 23 720,216 683,216 37,000
= 67,090 67,090 0
= 26,840 26,840 0
- 626,286 589,266 37,000
HEAFN KA (XHH) 30,000 0 30,000
301 YBHB T2 30,000 0 30,000
14 JIEH2 A2 30,000 0 30,000
OHSESH XIRAR (XHH)
150,0002 * 50 * 4)HE 30,000 0 30,000
HUKRME 2 333,036 326,036 7,000
201 B2 A Y| 37,500 32,500 5,000
01 Al 22| 37,500 32,500 5,000
OHUEAR = ALY
5,000,000 5,000 0 5,000
401 Al2HIZ 2 0HH] 45,000 35,000 10,000
01 Al 45,000 35,000 10,000
OHGEXAHE 22U SHH L DA
2 45,000,008 45,000 35,000 10,000
405 XroHE S| 21,750 9,750 12,000
01 MU SEH S| 21,750 9,750 12,000
Oditter)| el 3,000,0002! * 4CH 12,000 0 12,000
406 J|EFRH=OIE 0 20,000 20,000
01 JIEFXH20| & 0 20,000 20,000
OFUNHME AHRHE BZ2
2 0% 0 20,000 A20,000
£} AP L3 231,900 236,800 274,900
< 37,8% 37,8% 0
2 188,804 198,704 74,900
= 5,200 5,200 0
SHEA 231,900 236,800 74,900
< 37,8% 37,8% 0
2 188,804 198,704 274,900
= 5,200 5,200 0
SRS 14,100 19,000 274,900
202 01t 0 4,900 274,900
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